

1. 다음을 계산하시오.

$$\frac{13}{27} + \frac{7}{9}$$

- ① $1\frac{1}{3}$ ② $1\frac{8}{27}$ ③ $1\frac{7}{27}$ ④ $1\frac{2}{9}$ ⑤ $1\frac{10}{27}$

해설

$$\frac{13}{27} + \frac{7}{9} = \frac{13}{27} + \frac{21}{27} = \frac{34}{27} = 1\frac{7}{27}$$

2. 다음을 계산하시오.

$$4\frac{2}{7} + 3\frac{1}{2}$$

- ① $7\frac{5}{7}$ ② $7\frac{11}{14}$ ③ $7\frac{6}{7}$ ④ $8\frac{11}{14}$ ⑤ $8\frac{6}{7}$

해설

$$4\frac{2}{7} + 3\frac{1}{2} = 4\frac{4}{14} + 3\frac{7}{14} = (4+3) + (\frac{4}{14} + \frac{7}{14}) = 7 + \frac{11}{14} = 7\frac{11}{14}$$

